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Time : Three hours Maximum : 100 marks
PART A — (10 x 3 = 30 marks)
Answer any TEN questions.
All questions carry equal marks.

1. Convert the Hexadecimal (B65F) into its decimal

equivalent.

Lgler mi ereir B65F—e &1 erammentms ommmis.

2. Expand ASCII and EBCDIC.
‘ASCIT" wpmid ‘EBCDIC—g eflfleuré@s.

3. Prove the theorem of Boolean algebra x +1=1.
yedllwer @uinsanfls Cshmid x +1 =1 —gg bHlemLl.

4, How to construct a flip-flop?

GTeuGTm) flip-flop (FHOb-G)(HEEL )-8
2 _(HeUT&@G6UG)?



10.

List the set of micro-operations for the
accumulator.

Srerasdler - LioGoum HiawT- @) LsssH et UL igwiad (.
List the steps involved in the design of an ALU.
ALU-éneu auigeuenliLignamen eufluflenet L iqwiadl (.

Summarize the rules that apply to all numeric
type constants.

Slmensgl erenr g rdldluder  (panmasamer Cgm@ESs)
T(PSI.

Explain all logical operators with example.

Smarsg  grewm  QFEup@GHEmer 2 FTrERTSHEIL 60
oNleT& G

Write ‘for’ loop control structure with an example.
For seamenfl 51 L_anoliGenen o smremmssgiL_em 6T(LSIs.

Write a C function to swap two integer values
using pointers.

sligllenar vweatL(hSH @ranr(h  (pp  eTevTeantlem
wdlifenar @Lwmpobd GQeiw ‘C-Gwmduile e

QFwed gndlenen 6r(LpSis.

2 U/ID 46432/UCCB



11.

12.

13.

14.

Explain the usage of structures in ‘C’.

‘C-Qumfludied s LenwlinGer Lwearumigemer elleu.

Explain any three file modes in ‘C’.
‘C—-Qumfluied gCsad eperm CsmiL (peppenoai
afeurl.

PART B — (5 x 6 = 30 marks)

Answer any FIVE questions.

All questions carry equal marks.

Convert the expressions to sum-of-products term :
@ A+B)B+C) A +C0

b)) A+C)A+B+C)A+B)

Gevreu(md Cameneuudener sum-of-products term— <y.5
LOITH M) 8.

(=) (A+B) (B +C) A +C)

(B)A+C) A +B+C)(A+B)

Discuss any two implementations of a half-adder.

Half-adder—er gCsanid @Qner(h BevL(penmullenet
elleumd).
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15.

16.

17.

18.

19.

Explain the operation of clocked RS flip-flop.
Clocked RS (gppb — @Qnaéssden) Qaweum iqene
efeur.

Write in detail about data types in ‘C’.
‘C—Qwmfluler 76| cuamssamar allfleuns er(pHeLb.
Explain the syntax of ‘switch.., case’ statement
with an example.

‘Switch.., case’ slLewlGamer 2 FTraTSEIL 6T

aleufl.

Explain the difference between call by value and

call by reference with an example.

wLL-emplil] womibd wpaeeufl-empli&E 2 drer
Ceumium_igenen 2 sryenrsgiL e afleur.

Write a C function to find the length of a string
using pointers.

sligllenar  LwetL(BSS @  FTSSlen  SjeTaney

saadl (Hb Cewn spdlener ‘C-Cumdude erpgis.
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20.

21.

22.

23.

PART C — (4 x 10 = 40 marks)

Answer any FOUR questions.
All questions carry equal marks.

Using maps derive minimal product of sums
expression for the function in four wvariables
w,x,y,2: mO0+m2+m4+m8+m9+ml0+mll

+ml2+ml3.

eUETLILLD epaoLd, llameu(mLd e (@, Wl GlFuwcd samlener
&(H&5&H6|LD.

w,x,y,2: m0+m2+m4+m8+m9+ml0+mll

+ml2+ml3

Explain the operation of a binary ripple counter.

@ msF0 G erawranfl-udlen Qawidum g ener afleu.
Describe in detail how the arithmetic and logic
unit of a computer is designed.

@@ seluurdluien samfils aram Sissslman ereualmm
aulgeum&SLILMHE DS eTamLSamar afleu&se]Lb.

Write in detail about precedence and associativity
of operators in ‘C’.

‘C-Qumluler Smarss Quss @dsafer (perblape]
HMILD Qsm_imiener ellfleuns er(pgis.
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24.

25.

Write a program in C to read an array of names
and to sort them in alphabetical order.

‘CQwmPuier eripsgissrd enflulianer curbidl ojams
auflengwimgsd CFLd em Hlred eermlenet eT(LpgIs.

Explain pointers with arrays and arrays of
structures with an example.

SjamflE sllg  LOMDL el sLLewlbamer
2 gmranggiem elleurl.
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